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z` miytgn .Σ ∪ {φ} lrrn m jxe`a P .Σ ∪ {φ} a"` lrn n jxe`a T epl yi
.ez lkl mi`zdl leki φ xy`k ,Ta riten P mda zenewnd lk

-zepw ly mzixebl`d z` zeqpl dvxp okl ,zefexgn yetig ziiral dnec df
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la` A = φ = B - zeiaihifpxh epl oi` o`ky `id dirad .zeiaihifpxha epynzyde

.B 6= A
mrt lke ,ipyd lrn cg` xtqn miny - mixtqn ipy ltkl dnec dfy al miyp

:mixagne militkn ,mififn

T = a0 a1 a2 a3 a4
S = b0 b1 b2
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a · b =

{
0 a = b ∨ a = φ ∨ b = φ

1 otherwise
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!minepilet 2 litkny FFT mzixebl` epl yi

!dira cer
.ixabl` xebq dcya miynzyn ep`y dcaera xnelk - dcigid iyxeya ynzyn FFT
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litkdl mircei epgp` la` ,ycgd ltka FFT mr litkdl mircei `l epgp` ,mpn`
.milibx mixtqn

.Σ = {0, 1} xgap

dpey`x dpwqn
-aza mi"1" ly zen`zdd lk z` xetql mircei epgp` {0, 1} a"`a O (n logm) onfa
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.mze` xetql lkepe micg` eidi

zipiite`d divwpetd

χa (x) =

{
1 x = a

0 otherwise

Σ = {A,B,C}

i"r ayegi zen`zdd xtqn

χA (T )× χA (P ) + χB (T )× χB (P ) + χC (T )× χC (P )
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O (mn)n aeh zegt dfy - O (mn logm)a dirad z` xeztl lkep ,iteq Py oeeikn
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menihte`

nc =
m

c
logm

c2 = m logm

c =
√
m logm
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